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Mp 1.1F ZP= 367.0 80.0 80.0 80.0 80.0] [kN m]
H 340 194 194 194 194  [mm]
250 150 150 150 150|  [mm]
tw 9 6 6 6 6| [mm]
tf 14 9 9 9 9| [mm]
r 20 13 13 13 13[  [mm]
Fy (1.1F) 258 258 258 258 258| [N/ 2]
fFu 1000 1000 1000 1000 1000{ [N/ 2]
bo 20 20 20 20 20(  [mm]
d 2 2 2 2 2| [mm]
do bo+ d 22 22 22 22 22(  [mm]
Fu (1.1 ) 400 400 400 400 400 [N/ 2]
m 3 2 2 2 2
2 2 2 2 2
fn 6 4 4 4 4
el 40 40 40 40 40|  [mm]
e2 50 30 30 30 30[  [mm]
p 60 70 70 70 70(  [mm]
fAb 3.14 3.14 3.14 3.14 .14 [ 2]
o Zpe 15 15 15 15 150 [ 1]
Zpe 1120 210 210 210 210 [cm3]
Af 35.0 13.5 13.5 13.5 13.5| [ 2]
Aw 28.08 10.6 10.6 10.6 10.6)] [ 2]
ns 1 1 1 1 1
Rsu 0.6ns fAb fFu= 188.5 188.5 188.5 188.5 188.5| [kN]
Ant 10.9 3.4 3.4 3.4 3.4 [ 2]
Ans 44.8 19.8 19.8 19.8 19.8 [ 2]
JMul
(29) JMul=Zpe Fu= 448.1 83.9 83.9 83.9 83.9| [kN m]
JMu2
(30) JMu2=(Ant+0.5Ans) (H-tf)Fu= 434.5 98.6 98.6 98.6 98.6| [kN m]
JMu3
(31 JjMu3=fn Rsu(H-tf)= 368.7 139.5 139.5 139.5 139.5| [kN m]
JMu=min[jMul, jMu2, jMu3]= 368.7 83.9 83.9 83.9 83.9( [kN m]
Mj=jMu/1.3= 283.6 64.6 64.6 64.6 64.6| [kN m]
Zp F Zp F Zp F Zp F Zp F
Zp F= 333.6 72.7 72.7 72.7 72.7] [kN m]
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